

## **ANNALES**

### DE

# L'INSTITUT FOURIER

Paolo DE BARTOLOMEIS & Adriano TOMASSINI

On Solvable Generalized Calabi-Yau Manifolds

Tome 56, no 5 (2006), p. 1281-1296.

<a href="http://aif.cedram.org/item?id=AIF">http://aif.cedram.org/item?id=AIF</a> 2006 56 5 1281 0>

© Association des Annales de l'institut Fourier, 2006, tous droits réservés.

L'accès aux articles de la revue « Annales de l'institut Fourier » (http://aif.cedram.org/), implique l'accord avec les conditions générales d'utilisation (http://aif.cedram.org/legal/). Toute reproduction en tout ou partie cet article sous quelque forme que ce soit pour tout usage autre que l'utilisation à fin strictement personnelle du copiste est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

### cedram

Article mis en ligne dans le cadre du

Centre de diffusion des revues académiques de mathématiques

http://www.cedram.org/

## ON SOLVABLE GENERALIZED CALABI-YAU MANIFOLDS

### by Paolo DE BARTOLOMEIS & Adriano TOMASSINI (\*)

ABSTRACT. — We give an example of a compact 6-dimensional non-Kähler symplectic manifold  $(M, \kappa)$  that satisfies the Hard Lefschetz Condition. Moreover, it is showed that  $(M, \kappa)$  is a special generalized Calabi-Yau manifold.

RÉSUMÉ. — On donne un exemple d'une variété symplectique compacte  $(M,\kappa)$  de dimension 6 qui n'admet aucune structure Kählerienne, mais qui satisfait la condition de Lefschetz Forte et dont l'algèbre de DeRham est formelle ; de plus, on montre que  $(M,\kappa)$  peut être dotée d'une structure de Calabi-Yau généralisée spéciale.

#### 1. Introduction

In the symplectic universe, a distinguished galaxy is represented by those objects satisfying the *Hard Lefschetz Condition* (HLC), i.e. those compact 2n-dimensional symplectic manifolds  $(M, \kappa)$  for which the maps

$$[\kappa]^p: \mathrm{H}^{n-p}(M,\mathbb{R}) \to \mathrm{H}^{n+p}(M,\mathbb{R}), \quad 0 \leqslant p \leqslant n$$

are isomorphisms. A classical result states that, if  $(M, \kappa, J)$  is a compact Kähler manifold, then  $(M, \kappa)$  satisfies the HLC (see [7]), and  $\wedge^*(M)$  is a formal DGA; moreover, HLC symplectic manifolds possess some of the cohomological properties of a Kähler manifold (e.g. the odd Betti numbers  $b_{2p+1}(M)$  are even,  $b_p(M) \leq b_{p+2}(M)$ ,  $0 \leq p < n-1$ ). It is well known that, given a symplectic manifold  $(M, \kappa)$ , it is possible to define a  $\bigstar$  symplectic Hodge operator on  $\wedge^p(M)$ , for  $0 \leq p \leq 2n$  and a codifferential operator

Keywords: Symplectic manifolds, Calabi-Yau manifolds.

Math. classification: 17B30, 53C15, 53D05.

<sup>(\*)</sup> This work was supported by the Project M.I.U.R. "Geometric Properties of Real and Complex Manifolds" and by G.N.S.A.G.A. of I.N.d.A.M..

 $d^{\bigstar}$ . Then  $(\wedge^*, d^{\bigstar}, d)$  is a differentiable Gerstenhaber-Batalin-Vilkovisky (dGBV) algebra, that is integrable (i.e. the  $dd^{\bigstar}$ -lemma holds), if and only if  $(M, \kappa)$  satisfies the HLC (see [13], [10], [9], [6]), and in this case  $(\wedge^*, d^{\bigstar}, d)$  is formal in the sense of DSLA's (see e.g. [3]).

On the other hand, in recent years, a great deal of interest has been originated by generalizations of the notion of Calabi-Yau manifold (especially in connection with a more flexible theory of deformation of classical objects) and further special generalization can be investigated in real dimension 6 (see [2]).

In this paper we construct an example of a 6-dimensional compact symplectic manifold  $(M, \kappa)$ , carrying a structure of special generalized Calabi-Yau manifold and satisfying HLC, whose De Rham algebra is formal (as DGA), but which does not admit any Kähler structure). Note that our manifold is solvable but not nilpotent and its cohomology is larger than the invariant one.

#### 2. Special generalized Calabi-Yau manifolds

Let  $(M, \kappa)$  be a 2*n*-dimensional symplectic manifold. An almost complex structure J on M is said to be  $\kappa$ -calibrated if, for any  $x \in M$ ,

$$g_J[x](\cdot,\cdot) := \kappa[x](\cdot,J[x]\cdot)$$

is an almost Hermitian metric on M. Let (M, J, g) be an almost Kähler manifold and let  $\nabla^{LC}$  be the Levi Civita connection of g. The Chern connection is the covariant exterior differential operator defined by

$$\nabla := \nabla^{LC} - \frac{1}{2} J \nabla^{LC} J \,.$$

 $\nabla$  is characterized by the following three conditions:

$$\nabla J = 0$$
,  $\nabla g = 0$ ,  $T^{\nabla} = \frac{1}{4} N_J$ ,

where  $T^{\nabla}$  is the torsion of  $\nabla$  and  $N_J$  is the Nijenhuis tensor of J. Recall that, if J is an almost complex structure on M, then we have that

$$d: \Lambda^{p,q}_{J}(M) \to \Lambda^{p+2,q-1}_{J}(M) + \Lambda^{p+1,q}_{J}(M) + \Lambda^{p,q+1}_{J}(M) + \Lambda^{p-1,q+2}_{J}(M)$$

and so d splits accordingly as

$$d = A_J + \partial_J + \overline{\partial}_J + \overline{A}_J.$$

DEFINITION 2.1. — A special generalized Calabi-Yau manifold is the datum of  $(M, \kappa, J, \epsilon)$  where  $(M, \kappa)$  is a compact symplectic 6-dimensional manifold, J is a  $\kappa$ -calibrated almost complex structure on M and  $\epsilon$  is a nowhere vanishing (3,0)-form on M satisfying

i) 
$$\nabla \epsilon = 0$$

ii) 
$$A_J(\bar{\epsilon}) + \overline{A}_J(\epsilon) = 0$$
.

Remark 2.2. — It can be proved (see [2]) that  $\epsilon$  satisfies i) and ii) if and only if

(2.1) 
$$\begin{cases} \epsilon \wedge \overline{\epsilon} &= -ie^{\sigma} \frac{\kappa^3}{3!}, \text{ with } \sigma = \text{const.} \\ d\Re e \, \epsilon &= 0. \end{cases}$$

If J is a holomorphic structure, then  $A_J=0, \nabla=\nabla^{LC}$  and a special generalized Calabi-Yau manifold is a Calabi-Yau manifold of complex dimension 3.

#### 3. The solvmanifold M

In this section we will recall the construction of the solvmanifold M. Let  $A \in \mathrm{SL}(2,\mathbb{Z})$  with two distinct real eigenvalues  $e^{\lambda}$  and  $e^{-\lambda}$ , where  $\lambda > 0$ . Let  $P \in \mathrm{GL}(2,\mathbb{R})$  such that

$$PAP^{-1} = \Lambda = \begin{pmatrix} e^{-\lambda} & 0 \\ 0 & e^{\lambda} \end{pmatrix}.$$

On  $\mathbb{C}^2$ , with coordinates (z, w), let  $\sim$  be defined by

$$\left( \begin{array}{c} z' \\ w' \end{array} \right) \sim \left( \begin{array}{c} z \\ w \end{array} \right) \Longleftrightarrow \left( \begin{array}{c} z' \\ w' \end{array} \right) = \left( \begin{array}{c} z \\ w \end{array} \right) + P \left( \begin{array}{c} m_1 + 2\pi i n_1 \\ m_2 + 2\pi i n_2 \end{array} \right) \, ,$$

where  $m_1, m_2, n_1, n_2 \in \mathbb{Z}$ . Then  $\mathbb{C}^2/\sim$  is a complex torus  $\mathbb{T}^2$  and

$$\Lambda \left[ \left( \begin{array}{c} z \\ w \end{array} \right) \right] = \left[ \Lambda \left( \begin{array}{c} z \\ w \end{array} \right) \right]$$

is a well defined automorphism of  $\mathbb{T}^2$ . Indeed, if  $\begin{pmatrix} z' \\ w' \end{pmatrix} \sim \begin{pmatrix} z \\ w \end{pmatrix}$ , then

$$\Lambda \left( \begin{array}{c} z' \\ w' \end{array} \right) = \Lambda \left( \begin{array}{c} z \\ w \end{array} \right) + \Lambda P \left( \begin{array}{c} m_1 + 2\pi i n_1 \\ m_2 + 2\pi n_2 \end{array} \right) =$$

$$= \Lambda \left( \begin{array}{c} z \\ w \end{array} \right) + PA \left( \begin{array}{c} m_1 + 2\pi i n_1 \\ m_2 + 2\pi n_2 \end{array} \right) = \Lambda \left( \begin{array}{c} z \\ w \end{array} \right) + P \left( \begin{array}{c} m_1 + 2\pi i n_1 \\ m_2 + 2\pi n_2 \end{array} \right)$$

so that 
$$\Lambda \left( \begin{array}{c} z' \\ w' \end{array} \right) \sim \Lambda \left( \begin{array}{c} z \\ w \end{array} \right).$$

For example, take

$$A = \left(\begin{array}{cc} 2 & 1 \\ 1 & 1 \end{array}\right) .$$

Then  $\lambda = \log \frac{3+\sqrt{5}}{2}$  and we can choose

(3.1) 
$$P = \begin{pmatrix} \frac{1-\sqrt{5}}{2} & 1\\ 1 & \frac{\sqrt{5}-1}{2} \end{pmatrix}.$$

Set again

$$\lambda = \log \frac{3 + \sqrt{5}}{2}$$
 and  $\mu = \log \frac{\sqrt{5} - 1}{2}$ 

on  $\mathbb{C}^3$ , with coordinates  $(z_1, z_2, z_3)$ , let us consider a multiplication \* defined by

$${}^{t}(z_1, z_2, z_3) * {}^{t}(w_1, w_2, w_3) = {}^{t}(z_1 + w_1, e^{-w_1}z_2 + w_2, e^{w_1}z_3 + w_3)$$

for any  $^t(z_1, z_2, z_3)$ ,  $^t(w_1, w_2, w_3) \in \mathbb{C}^3$ . Then  $(\mathbb{C}^3, *)$  is a complex solvable Lie group. Let

$$T_1(z) = {}^t(z_1 + \lambda, e^{-\lambda}z_2, e^{\lambda}z_3),$$

$$T_2(z) = {}^t(z_1 + 2\pi i, z_2, z_3),$$

$$T_3(z) = {}^t(z_1, z_2 + 1, z_3 - \mu),$$

$$T_4(z) = {}^t(z_1, z_2 + \mu, z_3 + 1),$$

$$T_5(z) = {}^t(z_1, z_2 + 2\pi i, z_3 - 2\pi i\mu,),$$

$$T_6(z) = {}^t(z_1, z_2 + 2\pi i\mu, z_3 + 2\pi i)$$

and let  $\Gamma$  be the subgroup generated by  $T_1, \ldots, T_6$ . Then  $\Gamma$  is a closed subgroup of the Lie group  $(\mathbb{C}^3, *)$  and, consequently, the quotient  $\mathbb{C}^3/\Gamma$  is a manifold. We have

(3.2) 
$$M := (\mathbb{C}^3, *)/\Gamma \simeq \frac{\mathbb{C} \times \mathbb{C}^2 / P(\mathbb{Z}^2 + 2\pi i \mathbb{Z}^2)}{\Xi},$$

where

$$\Xi := < T_1, T_2 > .$$

Therefore, M is a non-nilpotent compact complex solvmanifold (see [11], [12]).

It is immediate to check that

(3.3) 
$$\varphi_1 := dz_1, \quad \varphi_2 := e^{z_1} dz_2, \quad \varphi_3 := e^{-z_1} dz_3$$

define holomorphic (with respect to the standard complex structure induced by  $\mathbb{C}^3$ ) invariant 1-forms on M, such that

(3.4) 
$$d\varphi_1 = 0, \quad d\varphi_2 = \varphi_1 \wedge \varphi_2, \quad d\varphi_3 = -\varphi_1 \wedge \varphi_3.$$

By (3.2), the solvmanifold M is diffeomorphic to the product

$$(3.5) S^1 \times \frac{\mathbb{R} \times \mathbb{T}^2}{\langle T_1 \rangle}.$$

#### 4. Cohomology of M

We will compute the cohomology of the solvmanifold M.

THEOREM 4.1. — We have 
$$b_1(M) = 2$$
,  $b_2(M) = 5$  and  $b_3(M) = 8$ .

*Proof.* — We start by computing the second Betti number of M. By Hodge theorem, we determine the space of real harmonic two-forms on M. Let  $\varphi \in \Lambda^2(M, \mathbb{R})$ ; then,

$$\varphi = \psi + \vartheta + \overline{\psi} \,,$$

with  $\psi \in \Lambda^{2,0}(M)$  and  $\vartheta = \overline{\vartheta} \in \Lambda^{1,1}(M)$ . Therefore, we can set

$$\psi = \psi_{12} \varphi_1 \wedge \varphi_2 + \psi_{13} \varphi_1 \wedge \varphi_3 + \psi_{23} \varphi_2 \wedge \varphi_3 
\vartheta = \vartheta_{1\overline{1}} \varphi_1 \wedge \overline{\varphi}_1 + \vartheta_{1\overline{2}} \varphi_1 \wedge \overline{\varphi}_2 + \vartheta_{1\overline{3}} \varphi_1 \wedge \overline{\varphi}_3 
-\overline{\vartheta}_{1\overline{2}} \varphi_2 \wedge \overline{\varphi}_1 + \vartheta_{2\overline{2}} \varphi_2 \wedge \overline{\varphi}_2 + \vartheta_{2\overline{3}} \varphi_2 \wedge \overline{\varphi}_3 
-\overline{\vartheta}_{1\overline{2}} \varphi_3 \wedge \overline{\varphi}_1 - \overline{\vartheta}_{2\overline{2}} \varphi_3 \wedge \overline{\varphi}_2 + \vartheta_{2\overline{2}} \varphi_3 \wedge \overline{\varphi}_3,$$

where  $\psi_{ab}$ ,  $\vartheta_{a\bar{b}}$ , a, b=1, 2, 3 are  $C^{\infty}$  and  $\Gamma$ -invariant functions on  $\mathbb{C}^3$  satisfying the following

$$\begin{cases} \vartheta_{1\overline{1}} = -\overline{\vartheta}_{1\overline{1}} \\ \vartheta_{2\overline{2}} = -\overline{\vartheta}_{2\overline{2}} \\ \vartheta_{3\overline{3}} = -\overline{\vartheta}_{3\overline{3}} \end{cases}$$

Then, the two-form  $\varphi$  is harmonic if and only if

(4.2) 
$$\begin{cases} \partial \psi &= 0\\ \partial \vartheta + \overline{\partial} \psi &= 0\\ \partial^* \psi + \overline{\partial}^* \vartheta &= 0, \end{cases}$$

where, as usual,

$$d = \partial + \overline{\partial}$$
,  $\partial^* = - * \partial *$ ,  $\overline{\partial}^* = - * \overline{\partial} *$ ,  $d^* = \partial^* + \overline{\partial}^*$ 

and  $*: \Lambda^{p,q}(M) \to \Lambda^{3-p,3-q}(M)$  is the Hodge operator is taken with respect to the Hermitian metric

$$g_0 = \sum_{h=1}^3 \varphi_h \otimes \overline{\varphi}_h .$$

The first and the second equation of (4.2) are equivalent to say that  $d\varphi = 0$ , while the last equation means  $d^*\varphi = 0$ .

A straightforward computation, shows that (4.2) is equivalent to the following system of partial differential equations in the unknowns  $\psi_{hk}$ ,  $\vartheta_{h\overline{k}}$ , h, k = 1, 2, 3

$$(4.3) e^{z_1} \frac{\partial \psi_{12}}{\partial z_3} - e^{-z_1} \frac{\partial \psi_{13}}{\partial z_2} + \frac{\partial \psi_{23}}{\partial z_1} = 0$$

$$\frac{\partial \psi_{12}}{\partial \overline{z}_1} - e^{-z_1} \frac{\partial \vartheta_{1\overline{1}}}{\partial z_2} - \frac{\overline{\partial \vartheta_{1\overline{2}}}}{\partial \overline{z}_1} - \overline{\vartheta_{1\overline{2}}} = 0$$

$$\frac{\partial \psi_{13}}{\partial \overline{z}_1} - e^{z_1} \frac{\partial \vartheta_{1\overline{1}}}{\partial z_3} - \frac{\overline{\partial \vartheta_{1\overline{3}}}}{\partial \overline{z}_1} + \overline{\vartheta_{1\overline{3}}} = 0$$

(4.6) 
$$\frac{\partial \psi_{23}}{\partial \overline{z}_1} + e^{z_1} \frac{\overline{\partial \vartheta_{1\overline{2}}}}{\partial \overline{z}_3} - e^{-z_1} \frac{\overline{\partial \vartheta_{1\overline{3}}}}{\partial \overline{z}_2} = 0$$

$$(4.7) e^{-\overline{z}_1} \frac{\partial \psi_{12}}{\partial \overline{z}_2} - e^{-z_1} \frac{\partial \vartheta_{1\overline{2}}}{\partial z_2} + \frac{\partial \vartheta_{2\overline{2}}}{\partial z_1} + \vartheta_{2\overline{2}} = 0$$

$$(4.8) e^{-\overline{z}_1} \frac{\partial \psi_{13}}{\partial \overline{z}_2} - e^{z_1} \frac{\partial \vartheta_{1\overline{2}}}{\partial z_3} - \frac{\overline{\partial \vartheta_{2\overline{3}}}}{\partial \overline{z}_1} + \overline{\vartheta_{2\overline{3}}} = 0$$

$$(4.9) e^{-\overline{z}_1} \frac{\partial \psi_{23}}{\partial \overline{z}_2} - e^{z_1} \frac{\partial \vartheta_{2\overline{2}}}{\partial z_3} - e^{-z_1} \overline{\frac{\partial \vartheta_{2\overline{3}}}{\partial \overline{z}_2}} = 0$$

$$(4.10) e^{\overline{z}_1} \frac{\partial \psi_{12}}{\partial \overline{z}_3} - e^{-z_1} \frac{\partial \vartheta_{1\overline{3}}}{\partial z_2} + \frac{\partial \vartheta_{2\overline{3}}}{\partial z_1} + \vartheta_{2\overline{3}} = 0$$

$$(4.11) e^{\overline{z}_1} \frac{\partial \psi_{13}}{\partial \overline{z}_3} - e^{z_1} \frac{\partial \vartheta_{1\overline{3}}}{\partial z_3} + \frac{\partial \vartheta_{3\overline{3}}}{\partial z_1} - \vartheta_{3\overline{3}} = 0$$

$$(4.12) e^{\overline{z}_1} \frac{\partial \psi_{23}}{\partial \overline{z}_3} - e^{z_1} \frac{\partial \vartheta_{2\overline{3}}}{\partial z_3} + e^{-z_1} \frac{\partial \vartheta_{3\overline{3}}}{\partial z_2} = 0$$

$$(4.13) \frac{\partial \overline{\psi_{13}}}{\partial z_1} + e^{-z_1} \frac{\partial \overline{\psi_{23}}}{\partial z_2} + \overline{\psi_{13}} + \frac{\partial \vartheta_{1\overline{3}}}{\partial \overline{z}_1} + e^{-\overline{z}_1} \frac{\partial \vartheta_{2\overline{3}}}{\partial \overline{z}_2} - e^{\overline{z}_1} \frac{\partial \vartheta_{3\overline{3}}}{\partial \overline{z}_3} = 0$$

$$(4.14) \quad \frac{\partial \overline{\psi_{12}}}{\partial z_1} - e^{z_1} \frac{\partial \overline{\psi_{23}}}{\partial z_3} - \overline{\psi_{12}} + \frac{\partial \vartheta_{1\overline{2}}}{\partial \overline{z}_1} - e^{-\overline{z}_1} \frac{\partial \overline{\vartheta_{2\overline{2}}}}{\partial \overline{z}_2} - e^{\overline{z}_1} \frac{\partial \overline{\vartheta_{2\overline{3}}}}{\partial \overline{z}_3} = 0$$

$$(4.15) \ e^{-z_1} \frac{\partial \overline{\psi_{12}}}{\partial z_2} + e^{z_1} \frac{\partial \overline{\psi_{13}}}{\partial z_3} + \frac{\partial \overline{\vartheta_{1\overline{1}}}}{\partial \overline{z}_1} + e^{-\overline{z}_1} \frac{\partial \overline{\vartheta_{1\overline{2}}}}{\partial \overline{z}_2} + e^{\overline{z}_1} \frac{\partial \overline{\vartheta_{1\overline{3}}}}{\partial \overline{z}_3} = 0.$$

Since  $\Gamma$  acts as a group of translations on the variable  $x_4 = \Im m z_1$ , the functions  $\psi_{hk}$ ,  $\vartheta_{h\overline{k}}$  h, k = 1, 2, 3 are periodic with respect to  $x_4$ . Therefore, we can take the Fourier expansion of these functions. Let us denote by  $z = (z_1, z_2, z_3)$ . We set:

$$\psi_{hk}(z,\overline{z}) = \sum_{m} \Psi_{hk\ m}(x_1, z_2, z_3, \overline{z}_2, \overline{z}_3) \exp(m\frac{z_1 - \overline{z}_1}{2})$$

$$\vartheta_{h\overline{k}}(z,\overline{z}) = \sum_{m} \Theta_{h\overline{k}\ m}(x_1, z_2, z_3, \overline{z}_2, \overline{z}_3) \exp(m\frac{z_1 - \overline{z}_1}{2}),$$

for  $h, k = 1, 2, 3, m \in \mathbb{Z}$ .

Now we put the previous expressions for the unknowns  $\psi_{hk}$ ,  $\vartheta_{h\overline{k}}$  into equations (4.3)...(4.15). By a direct computation, we get the following:

$$(4.16) e^{z_1} \frac{\partial \Psi_{12\,m}}{\partial z_3} - e^{-z_1} \frac{\partial \Psi_{13\,m}}{\partial z_2} + \frac{\partial \Psi_{23\,m}}{\partial z_1} + \frac{m}{2} \Psi_{23\,m} = 0$$

$$(4.17) -e^{-z_1} \frac{\partial \Theta_{1\overline{1}\,m}}{\partial z_2} + \frac{\partial \Psi_{12\,m}}{\partial \overline{z}_1} - \frac{m}{2} \Psi_{12\,m} - \frac{m}{2} \Psi_{13\,m} - \frac{m}{2} \Psi_{23\,m} - e^{-z_1} \frac{\partial \Theta_{1\overline{3}\,-m}}{\partial \overline{z}_2} + \frac{\partial \Psi_{23\,m}}{\partial \overline{z}_2} + \frac{\partial \Psi_{23\,m}}{\partial \overline{z}_1} - \frac{m}{2} \Psi_{23\,m} = 0$$

$$(4.19) e^{z_1} \frac{\partial \Psi_{12\,m}}{\partial \overline{z}_2} - e^{-z_1} \frac{\partial \Theta_{1\overline{2}\,m}}{\partial z_2} + \frac{\partial \Theta_{2\overline{2}\,m}}{\partial z_1} + (1 + \frac{m}{2}) \Theta_{2\overline{2}\,m} = 0$$

$$(4.20) e^{-\overline{z}_1} \frac{\partial \Psi_{12\,m}}{\partial \overline{z}_2} - e^{-z_1} \frac{\partial \Theta_{1\overline{2}\,m}}{\partial z_2} + \frac{\partial \Theta_{2\overline{2}\,m}}{\partial z_1} - e^{z_1} \frac{\partial \Theta_{1\overline{2}\,m}}{\partial z_3} - \frac{m}{2} \Psi_{23\,m} = 0$$

$$(4.21) e^{-\overline{z}_1} \frac{\partial \Psi_{13\,m}}{\partial \overline{z}_2} - e^{z_1} \frac{\partial \Theta_{2\overline{3}\,-m}}{\partial z_3} - e^{-z_1} \frac{\partial \Theta_{2\overline{3}\,-m}}{\partial z_3} = 0$$

$$(4.22) e^{-\overline{z}_1} \frac{\partial \Psi_{23\,m}}{\partial \overline{z}_2} - e^{z_1} \frac{\partial \Theta_{2\overline{2}\,m}}{\partial z_3} - e^{-z_1} \frac{\partial \Theta_{2\overline{3}\,-m}}{\partial \overline{z}_2} = 0$$

$$(4.23) \ e^{\overline{z}_1} \frac{\partial \Psi_{12\,m}}{\partial \overline{z}_3} - e^{-z_1} \frac{\partial \Theta_{1\overline{3}\,m}}{\partial z_2} + \frac{\partial \Theta_{2\overline{3}\,m}}{\partial z_1} + (\frac{m}{2} + 1)\Theta_{2\overline{3}\,m} = 0$$

$$(4.24) \quad e^{\overline{z}_1} \frac{\partial \Psi_{13\,m}}{\partial \overline{z}_3} - e^{z_1} \frac{\partial \Theta_{1\overline{3}\,m}}{\partial z_3} + \frac{\partial \Theta_{3\overline{3}\,m}}{\partial z_1} + (\frac{m}{2} - 1)\Theta_{3\overline{3}\,m} = 0$$

$$(4.25) e^{\overline{z}_1} \frac{\partial \Psi_{23\,m}}{\partial \overline{z}_3} - e^{z_1} \frac{\partial \Theta_{2\overline{3}\,m}}{\partial z_3} + e^{-z_1} \frac{\partial \Theta_{3\overline{3}\,m}}{\partial z_2} = 0$$

$$(4.26) \frac{\partial \overline{\Psi_{13-m}}}{\partial z_1} + (\frac{m}{2} + 1)\overline{\Psi_{13-m}} + e^{-z_1} \frac{\partial \overline{\Psi_{23-m}}}{\partial z_2} + \frac{\partial \Theta_{1\overline{3}m}}{\partial \overline{z}_1} + \frac{-m}{2} \Theta_{1\overline{3}m} + e^{-\overline{z}_1} \frac{\partial \Theta_{2\overline{3}m}}{\partial \overline{z}_2} - e^{\overline{z}_1} \frac{\partial \Theta_{3\overline{3}m}}{\partial \overline{z}_3} = 0$$

$$(4.27) \frac{\partial \overline{\Psi_{12-m}}}{\partial z_1} + (\frac{m}{2} + 1)\overline{\Psi_{12-m}} - e^{-z_1} \frac{\partial \overline{\Psi_{23-m}}}{\partial z_3} + \frac{\partial \Theta_{1\overline{2}m}}{\partial \overline{z}_1} + \frac{-m}{2} \Theta_{1\overline{2}m} - e^{-\overline{z}_1} \frac{\partial \overline{\Theta_{2\overline{2}-m}}}{\partial \overline{z}_2} - e^{\overline{z}_1} \frac{\partial \overline{\Theta_{2\overline{3}-m}}}{\partial \overline{z}_3} = 0$$

$$(4.28) e^{-z_1} \frac{\partial \overline{\Psi_{12-m}}}{\partial z_2} + e^{z_1} \frac{\partial \overline{\Psi_{13-m}}}{\partial z_3} + \frac{\partial \overline{\Theta_{1\overline{1}-m}}}{\partial \overline{z}_1} - \frac{m}{2} \overline{\Theta_{1\overline{1}-m}} + e^{-\overline{z}_1} \frac{\partial \overline{\Theta_{1\overline{2}-m}}}{\partial \overline{z}_2} + e^{\overline{z}_1} \frac{\partial \overline{\Theta_{1\overline{3}-m}}}{\partial \overline{z}_2} = 0$$

Notice that equations (4.16)...(4.28) are identities in m. By equations (4.22), (4.25), (4.26) and (4.27) we get that

$$\frac{\partial \Theta_{2\overline{3}\,m}}{\partial z_2} = \frac{\partial \Theta_{2\overline{3}\,m}}{\partial z_3} = \frac{\partial \Theta_{2\overline{3}\,m}}{\partial \overline{z}_2} = \frac{\partial \Theta_{2\overline{3}\,m}}{\partial \overline{z}_3} = 0 \quad \forall m \in \mathbb{Z}.$$

Consequently,

$$\Theta_{2\overline{3}\,m} = \Theta_{2\overline{3}\,m}(x_1) \,.$$

Since  $\Theta_{2\overline{3}\,m}$  is  $\Gamma$ -invariant, it follows that it is periodic. Therefore by (4.23) we obtain

$$\vartheta_{2\overline{3}}(z,\overline{z}) = (u+iv)e^{\overline{z}_1 - z_1} \quad u, v \in \mathbb{R}.$$

By proceeding in a similar way, by taking into account (4.1) and the crucial fact that the functions  $\psi_{hk}$ ,  $\vartheta_{h\overline{k}}$ , h, k = 1, 2, 3 are  $\Gamma$ -invariant, we can solve the initial system of partial differential equations (4.3)...(4.15). A direct

computation shows that

$$\begin{array}{rclcrcl} \psi_{12}(z,\overline{z}) & = & 0 \\ \psi_{13}(z,\overline{z}) & = & 0 \\ \psi_{23}(z,\overline{z}) & = & x+iy & x,\,y \in \mathbb{R} \\ \vartheta_{1\overline{1}}(z,\overline{z}) & = & is & s \in \mathbb{R} \\ \vartheta_{1\overline{2}}(z,\overline{z}) & = & 0 \\ \vartheta_{1\overline{3}}(z,\overline{z}) & = & 0 \\ \vartheta_{2\overline{3}}(z,\overline{z}) & = & 0 \\ \vartheta_{2\overline{3}}(z,\overline{z}) & = & (u+iv)e^{\overline{z}_1-z_1} & u,\,v \in \mathbb{R} \\ \vartheta_{2\overline{3}}(z,\overline{z}) & = & 0 \,. \end{array}$$

This proves that  $b_2(M) = 5$ . Needless to say that we could perform same computations for

$$N := \frac{\mathbb{R} \times \mathbb{T}^2}{\langle T_1 \rangle},$$

sparing one dimension, but losing the complete use of complex variable.

In order to compute the first Betti number of M, we may perform the same method as before or refer to Theorem 4 of [11] for a more general result. We get  $b_1(M) = 2$ .

Since M is compact and parallelizable, we obtain that

$$b_3(M) = 2(b_2(M) - b_1(M) + 1) = 8.$$

We can give also an alternative proof, using spectral sequences, to compute the Betti numbers of

 $N = \frac{\mathbb{R} \times \mathbb{T}^2}{\langle T_1 \rangle}$ 

and then use Kunneth formula for

$$M = S^1 \times N$$
.

N can be described as the  $\mathbb{T}^2\text{-bundle}$  over  $S^1$ 

$$[0,\lambda] \times \mathbb{T}^2$$

where  $\{0\} \times \mathbb{T}^2$  and  $\{\lambda\} \times \mathbb{T}^2$  are identified via  $\Lambda$ ; in other words, let  $\mathfrak{U} := \{U_1, U_2, U_3\}$  be the covering of  $S^1$  given by:

$$U_1 := \left\{ e^{i\theta} \mid -\frac{\pi}{6} - \epsilon \leqslant \theta \leqslant \frac{\pi}{2} + \epsilon \right\}$$

$$\begin{split} U_2 &:= \left\{ e^{i\theta} \mid \frac{\pi}{2} - \epsilon \leqslant \theta \leqslant \frac{7\pi}{6} + \epsilon \right\} \\ U_3 &:= \left\{ e^{i\theta} \mid \frac{7\pi}{6} - \epsilon \leqslant \theta \leqslant -\frac{\pi}{6} + \epsilon \right\} \end{split}$$

then N is the fibre bundle defined by the transition functions

$$\psi_{12}: U_1 \cap U_2 \longrightarrow Aut(\mathbb{T}^2) , \ \psi_{12} \equiv \sqrt[3]{\Lambda}$$
  
$$\psi_{23}: U_2 \cap U_3 \longrightarrow Aut(\mathbb{T}^2) , \ \psi_{23} \equiv \sqrt[3]{\Lambda}$$
  
$$\psi_{31}: U_3 \cap U_1 \longrightarrow Aut(\mathbb{T}^2) , \ \psi_{31} \equiv \sqrt[3]{\Lambda}$$

we shall compute  $b_1(N)$  and  $b_2(N)$  by means of Leray's spectral sequence associated to the double complex

$$K^{p,q} := C^p(\mathfrak{U}, \wedge^q(\mathfrak{U}))$$

clearly the spectral sequence degenerate at  $E_2$  and

$$E_{\infty}^{p,q} = E_2^{p,q} = H_{\delta}(\mathfrak{U}, \mathfrak{H}^q(\mathbb{T}^2)), \ p = 0, 1$$

(where  $\mathfrak{H}^q(\mathbb{T}^2)$  is the locally constant sheaf  $H^q_{DR}(\mathbb{T}^2)$ ), all other elements being zero.

Note that:

if

$$a = (a_1, a_2, a_3) \in C^0(\mathfrak{U}, \mathfrak{H}^q(\mathbb{T}^2))$$

then

$$\delta a = (a_1 - (\sqrt[3]{\Lambda})^*(a_2), a_2 - (\sqrt[3]{\Lambda})^*(a_3), a_3 - (\sqrt[3]{\Lambda})^*(a_1))$$

now:

•  $H^1(N) = E_2^{0,1} \oplus E_2^{1,0}$ •  $H^2(N) = E_2^{0,2} \oplus E_2^{1,1}$ 

and

- $\begin{array}{lll} (1) & E_2^{0,1} &= H^0_\delta(\mathfrak{U},\,\mathfrak{H}^1(\mathbb{T}^2)) &= \{\Lambda \text{invariant elements of } H^1_{DR}(\mathbb{T}^2)\} \\ &= \{0\} \\ (2) & E_2^{1,0} &= H^1_\delta(\mathfrak{U},\,\mathbb{R}) \simeq \mathbb{R} \\ (3) & E_2^{0,2} &= H^0_\delta(\mathfrak{U},\,\mathfrak{H}^2(\mathbb{T}^2)) &= \{\Lambda \text{invariant elements of } H^2_{DR}(\mathbb{T}^2)\} \end{array}$

- (4)  $E_2^{1,1} = H_{\delta}^1(\mathfrak{U}, \mathfrak{H}^1(\mathbb{T}^2)) = \{0\}$ ; in fact, given

$$b = (b_{12}, b_{23}, b_{31}) \in C^1(\mathfrak{U}, \mathfrak{H}^1(\mathbb{T}^2))$$

we have:

$$\delta(a_1, a_2, a_3) = b$$

with

(a) 
$$a_2 = (I - \Lambda^*)^{-1} ((\sqrt[3]{\lambda})^* b_{31} + b_{23} + ((\sqrt[3]{\Lambda})^2)^* b_{12})$$

(b) 
$$a_1 = b_{12} + (\sqrt[3]{\Lambda})^* a_2$$
  
(c)  $a_3 = ((\sqrt[3]{\Lambda})^{-1})^* (a_2 - b_{23})$ 

Consequently:

$$b_1(N) = 1$$
,  $b_2(N) = 4$ 

Let  $\alpha_h, \alpha_{3+h}$  denote the real and imaginary part of  $\varphi_h, h = 1, 2, 3$  (see Section 3). Then Theorem 4.1 implies the following

COROLLARY 4.2. — We have

$$\mathrm{H}^1(M,\mathbb{R}) = \langle [\alpha_1], [\alpha_4] \rangle$$

$$H^{2}(M,\mathbb{R}) = \langle [\alpha_{1} \wedge \alpha_{4}], [\alpha_{2} \wedge \alpha_{6} - \alpha_{3} \wedge \alpha_{5}], [\alpha_{2} \wedge \alpha_{3} - \alpha_{5} \wedge \alpha_{6}],$$

$$[\cos(2x_{4})(\alpha_{2} \wedge \alpha_{3} + \alpha_{5} \wedge \alpha_{6}) - \sin(2x_{4})(\alpha_{2} \wedge \alpha_{6} + \alpha_{3} \wedge \alpha_{5})],$$

$$[\sin(2x_{4})(\alpha_{2} \wedge \alpha_{3} + \alpha_{5} \wedge \alpha_{6}) + \cos(2x_{4})(\alpha_{2} \wedge \alpha_{6} + \alpha_{3} \wedge \alpha_{5})].$$

*Proof.* — A straightforward computation shows that the above forms are harmonic with respect to the Hermitian metric

$$g_0 = \sum_{h=1}^3 \varphi_h \otimes \overline{\varphi}_h$$

on  $M = \mathbb{C}^3/\Gamma$ , where  $\varphi_h$  are the 1-forms on M defined by (3.3).

Remark 4.3. — We stress that  $H^1_{\text{inv}}(M,\mathbb{R}) = H^1(M,\mathbb{R})$ , but  $H^2_{\text{inv}}(M,\mathbb{R}) \subseteq H^2(M,\mathbb{R})$ . Indeed, by Corollary 4.2 we have

$$\mathrm{H}^1_{\mathrm{inv}}(M,\mathbb{R}) = \langle [\alpha_1], [\alpha_4] \rangle = \mathrm{H}^1(M,\mathbb{R})$$

and

$$H^2_{\mathrm{inv}}(M,\mathbb{R}) = \langle \, [\alpha_1 \wedge \alpha_4], \, [\alpha_2 \wedge \alpha_6 - \alpha_3 \wedge \alpha_5], \, [\alpha_2 \wedge \alpha_3 - \alpha_5 \wedge \alpha_6] \, \rangle \subsetneq H^2(M,\mathbb{R}) \,.$$
 This is in contrast with the nilpotent case.

#### 5. Main Theorem

We are ready to prove the following

THEOREM 5.1. — Let  $M = \mathbb{C}^3/\Gamma$ . Then

- i) there exists a symplectic structure  $\kappa$  on M such that  $(M, \kappa)$  satisfies the Hard Lefschetz Condition;
- ii) the De Rham complex of M is formal;
- iii) there exists on M a structure of special generalized Calabi-Yau manifold;

#### iv) M has no Kähler structures.

*Proof.* — i) We start showing that M satisfies the Hard Lefschetz Condition. Let  $\varphi_1$ ,  $\varphi_2$ ,  $\varphi_3$  be the differential defined by (3.3). As before, denote by  $\alpha_h$ ,  $\alpha_{3+h}$  the real and imaginary part of  $\varphi_h$ , h = 1, 2, 3, respectively. By (3.4), we easily get that

(5.1) 
$$\begin{cases} d\alpha_1 = d\alpha_4 = 0 \\ d\alpha_2 = \alpha_1 \wedge \alpha_2 - \alpha_4 \wedge \alpha_5 \\ d\alpha_3 = -\alpha_1 \wedge \alpha_3 + \alpha_4 \wedge \alpha_6 \\ d\alpha_5 = \alpha_1 \wedge \alpha_5 - \alpha_2 \wedge \alpha_4 \\ d\alpha_6 = -\alpha_1 \wedge \alpha_6 + \alpha_3 \wedge \alpha_4 \end{cases}$$

Let us define

(5.2) 
$$\kappa := \alpha_1 \wedge \alpha_4 + \alpha_3 \wedge \alpha_5 + \alpha_6 \wedge \alpha_2$$

Then  $\kappa$  is closed and non degenerate and so it defines a symplectic structure on M. Let  $\{\xi_1, \ldots, \xi_6\}$  be the dual basis of  $\{\alpha_1, \ldots, \alpha_6\}$ . Let us define a  $\kappa$ -calibrated almost complex structure J on M, by

(5.3) 
$$J\xi_1 = \xi_4 \qquad J\xi_3 = \xi_5 \qquad J\xi_6 = \xi_2$$
$$J\xi_4 = -\xi_1 \qquad J\xi_5 = -\xi_3 \qquad J\xi_2 = -\xi_6$$

Let  $L: \wedge^p(M) \to \wedge^{p+2}(M)$ 

$$L(\alpha) = \kappa \wedge \alpha$$

and

$$d^c = J^{-1}dJ.$$

Then we have the following identity

$$[\Delta, L] = -[d, d^c]$$

(see e.g. [1]), where  $\Delta$  is the Hodge Laplacian with respect to the Riemannian metric

$$g_J[x](\cdot,\cdot) = \kappa[x](\cdot,J\cdot)$$
.

Now, observe that

$$J\alpha_1 = -\alpha_4$$
,  $J\alpha_4 = \alpha_1$ ,  $J(\alpha_2 \wedge \alpha_3 - \alpha_5 \wedge \alpha_6) = -\alpha_2 \wedge \alpha_3 + \alpha_5 \wedge \alpha_6$  and that

$$\alpha_1 \wedge \alpha_4 , \quad \alpha_2 \wedge \alpha_6 - \alpha_3 \wedge \alpha_5 ,$$

$$(\cos(2x_4)(\alpha_2 \wedge \alpha_3 + \alpha_5 \wedge \alpha_6) - \sin(2x_4)(\alpha_2 \wedge \alpha_6 + \alpha_3 \wedge \alpha_5)) ,$$

$$(\sin(2x_4)(\alpha_2 \wedge \alpha_3 + \alpha_5 \wedge \alpha_6) + \cos(2x_4)(\alpha_2 \wedge \alpha_6 + \alpha_3 \wedge \alpha_5)) ,$$

are *J*-invariant. Hence, by (5.4), we get that  $[\Delta, L] = 0$  on the above forms. Therefore, given  $a \in H^{3-p}(M, \mathbb{R})$ , p = 1, 2, let h(a) be its harmonic representative. Then  $0 \neq L^p(h(a))$  is harmonic. Therefore

$$L^p: \mathrm{H}^{3-p}(M,\mathbb{R}) \to \mathrm{H}^{3+p}(M,\mathbb{R})$$

is injective and, by Poincaré duality, bijective. Hence,  $(M, \kappa)$  satisfies the Hard Lefschetz Condition.

ii) Summarizing, we have that the whole cohomology of M expressed through its harmonic representative is given by:

$$H^1(M,\mathbb{R}) = \langle [\alpha_1], [\alpha_4] \rangle$$

$$H^{2}(M,\mathbb{R}) = \langle [\alpha_{1} \wedge \alpha_{4}], [\alpha_{2} \wedge \alpha_{6} - \alpha_{3} \wedge \alpha_{5}], [\alpha_{2} \wedge \alpha_{3} - \alpha_{5} \wedge \alpha_{6}],$$

$$[\cos(2x_{4})(\alpha_{2} \wedge \alpha_{3} + \alpha_{5} \wedge \alpha_{6}) - \sin(2x_{4})(\alpha_{2} \wedge \alpha_{6} + \alpha_{3} \wedge \alpha_{5})],$$

$$[\sin(2x_{4})(\alpha_{2} \wedge \alpha_{3} + \alpha_{5} \wedge \alpha_{6}) + \cos(2x_{4})(\alpha_{2} \wedge \alpha_{6} + \alpha_{3} \wedge \alpha_{5})]\rangle$$

$$= \langle [\alpha_{1} \wedge \alpha_{4}], [\alpha], [\beta], [\gamma], [\delta]\rangle$$

$$\begin{split} \mathrm{H}^{3}(M,\mathbb{R}) = & \langle \left[ \alpha_{1} \wedge \alpha_{2} \wedge \alpha_{3} - \alpha_{1} \wedge \alpha_{5} \wedge \alpha_{6} \right], \\ & \left[ \alpha_{1} \wedge \alpha_{2} \wedge \alpha_{6} - \alpha_{1} \wedge \alpha_{3} \wedge \alpha_{5} \right], \\ & \left[ \alpha_{2} \wedge \alpha_{3} \wedge \alpha_{4} - \alpha_{4} \wedge \alpha_{5} \wedge \alpha_{6} \right], \\ & \left[ \alpha_{3} \wedge \alpha_{4} \wedge \alpha_{5} - \alpha_{2} \wedge \alpha_{4} \wedge \alpha_{6} \right], \\ & \left[ \cos(2x_{4})(\alpha_{2} \wedge \alpha_{3} \wedge \alpha_{4} + \alpha_{4} \wedge \alpha_{5} \wedge \alpha_{6}) + \right. \\ & \left. + \sin(2x_{4})(\alpha_{2} \wedge \alpha_{3} \wedge \alpha_{4} + \alpha_{4} \wedge \alpha_{5} \wedge \alpha_{6}) + \right. \\ & \left. + \sin(2x_{4})(\alpha_{2} \wedge \alpha_{3} \wedge \alpha_{4} + \alpha_{4} \wedge \alpha_{5} \wedge \alpha_{6}) + \right. \\ & \left. - \cos(2x_{4})(\alpha_{2} \wedge \alpha_{3} \wedge \alpha_{4} + \alpha_{4} \wedge \alpha_{5} \wedge \alpha_{6}) + \right. \\ & \left. + \sin(2x_{4})(\alpha_{1} \wedge \alpha_{2} \wedge \alpha_{3} + \alpha_{1} \wedge \alpha_{5} \wedge \alpha_{6}) + \right. \\ & \left. + \sin(2x_{4})(\alpha_{1} \wedge \alpha_{2} \wedge \alpha_{6} + \alpha_{1} \wedge \alpha_{3} \wedge \alpha_{5}) \right], \\ & \left[ - \sin(2x_{4})(\alpha_{1} \wedge \alpha_{2} \wedge \alpha_{3} + \alpha_{1} \wedge \alpha_{5} \wedge \alpha_{6}) + \right. \\ & \left. - \cos(2x_{4})(\alpha_{1} \wedge \alpha_{2} \wedge \alpha_{6} + \alpha_{1} \wedge \alpha_{3} \wedge \alpha_{5}) \right], \end{split}$$

$$\begin{split} \mathrm{H}^4(M,\mathbb{R}) = &\langle \left[ \alpha_2 \wedge \alpha_3 \wedge \alpha_5 \wedge \alpha_6 \right], \\ \left[ \alpha_1 \wedge \alpha_2 \wedge \alpha_4 \wedge \alpha_6 - \alpha_1 \wedge \alpha_3 \wedge \alpha_4 \wedge \alpha_5 \right], \\ \left[ \alpha_1 \wedge \alpha_4 \wedge \alpha_5 \wedge \alpha_6 - \alpha_1 \wedge \alpha_2 \wedge \alpha_3 \wedge \alpha_4 \right], \\ \left[ \cos(2x_4)(\alpha_1 \wedge \alpha_2 \wedge \alpha_3 \wedge \alpha_4 + \alpha_1 \wedge \alpha_4 \wedge \alpha_5 \wedge \alpha_6) + \\ + \sin(2x_4)(\alpha_1 \wedge \alpha_2 \wedge \alpha_4 \wedge \alpha_6 + \alpha_1 \wedge \alpha_3 \wedge \alpha_4 \wedge \alpha_5) \right], \\ \left[ \sin(2x_4)(\alpha_1 \wedge \alpha_2 \wedge \alpha_3 \wedge \alpha_4 + \alpha_1 \wedge \alpha_4 \wedge \alpha_5 \wedge \alpha_6) + \\ - \cos(2x_4)(\alpha_1 \wedge \alpha_2 \wedge \alpha_4 \wedge \alpha_6 + \alpha_1 \wedge \alpha_3 \wedge \alpha_4 \wedge \alpha_5) \right] \rangle \end{split}$$

$$H^{5}(M,\mathbb{R}) = \langle [\alpha_{2} \wedge \alpha_{3} \wedge \alpha_{4} \wedge \alpha_{5} \wedge \alpha_{6}], [\alpha_{1} \wedge \alpha_{2} \wedge \alpha_{3} \wedge \alpha_{5} \wedge \alpha_{6}] \rangle$$

It is easy to check that we are in a very special situation, i.e. for M the product of harmonic forms is harmonic and, as it is very easy to see, this is enough to establish that  $(\wedge^*(M), d)$  is formal; in fact, we have the following, immediate to prove

LEMMA 5.2. — Let (N, g) be a compact Riemannian manifold such that the space of harmonic forms of N is closed under multiplication; then the map

$$h: (H_{DR}^*(N), 0) \longrightarrow (\wedge^*(N), d)$$

assigning to every De Rham class its harmonic representative is a DGA quasi-isomorphism and consequently N is formal.

moreover, giving a closer look, if we set:

$$V_1 := \langle \alpha_1, \alpha_4 \rangle$$
  $V_2 = \langle \alpha, \beta, \gamma, \delta \rangle$ 

then we see that

$$\mathfrak{M} = \wedge V_1 \otimes \wedge V_2$$

is the minimal model of the De Rham algebra of M. Hence ii) is proved.

iii) Next, we show that  $(M, \kappa)$ , where  $\kappa$  is the symplectic form defined by (5.2), has a structure of special generalized Calabi-Yau manifold. Set

$$\tilde{\epsilon} := (\alpha_1 + i\alpha_4) \wedge (\alpha_6 + i\alpha_2) \wedge (\alpha_3 + i\alpha_5).$$

Then, by definition,  $\epsilon$  is a (3,0)-form with respect to the  $\kappa$ -calibrated almost complex structure defined by (5.3). By a direct computation we get

$$\Re e \,\tilde{\epsilon} = -\alpha_1 \wedge \alpha_3 \wedge \alpha_6 - \alpha_1 \wedge \alpha_2 \wedge \alpha_5 + \alpha_4 \wedge \alpha_5 \wedge \alpha_6 - \alpha_2 \wedge \alpha_3 \wedge \alpha_4$$

By setting

$$\epsilon := \frac{\sqrt{3}}{2}\tilde{\epsilon}\,,$$

we have

$$\epsilon \wedge \overline{\epsilon} = -i\kappa^3$$

and

$$d\Re e \,\epsilon = 0$$
.

Therefore  $(M, \kappa, J, \epsilon)$  is a special generalized Calabi-Yau manifold and iii) is proved.

iv) Finally, we show that M has no Kähler structures. First of all, we observe that the standard holomorphic structure on  $M = \mathbb{C}^3/\Gamma$ , induced by  $\mathbb{C}^3$ , is not Kähler, since  $\varphi_2$ ,  $\varphi_3$  are holomorphic non closed 1-forms on M. In order to prove that M has no Kähler structures, we recall the Main Theorem of [8].

A compact solvmanifold admits a Kähler structure if and only if it is a finite quotient of a complex torus which has a structure of a complex torus bundle over a complex torus. In particular, a compact solvmanifold of completely solvable type has a Kähler structure if and only if it is a complex torus.

For the nilpotent case see [4].

Assume now that  $M = \mathbb{C}^3/\Gamma$  has a Kähler structure. Then M is covered by a torus and M is the total space of a holomorphic torus bundle  $\{M, \pi, B, F\}$  over a complex torus B of complex dimension 1. In view of the Théorème Principal II, p. 192 of [5], we have that, if M is Kähler, then

$$b_1(M) = b_1(F) + b_1(B)$$
.

This is absurd, since  $b_1(M) = 2$ ,  $b_1(F) = 4$  and  $b_1(B) = 2$ . The theorem is proved.

Remark 5.3. — Notice that the solvmanifold M is a balanced manifold. Indeed,

$$g_0 = \sum_{h=1}^3 \varphi_h \otimes \overline{\varphi}_h .$$

defines an Hermitian metric on M, whose Kähler form is

$$\kappa_0 = \frac{i}{2} \sum_{h=1}^{3} \varphi_h \wedge \overline{\varphi}_h$$

and, by a direct computation, we have that

$$d(\kappa_0 \wedge \kappa_0) = 0.$$

#### BIBLIOGRAPHY

- [1] P. DE BARTOLOMEIS, "Symplectic and Holomorphic Theory in Kähler Geometry", Tech. report, XIII Escola de Geometria Diferencial Istituto Matemática e Estatística Universidade de São Paulo, 2004.
- [2] P. DE BARTOLOMEIS & A. TOMASSINI, "On the Maslov Index of Lagrangian Submanifolds of Generalized Calabi-Yau Manifolds", preprint (2005).
- [3] P. DE BARTOLOMEIS & A. TOMASSINI, "On Formality of Some Symplectic Manifolds", Inter. Math. Res. Notic. 24 (2001), p. 1287-1314.
- [4] C. Benson & C. S. Gordon, "Kähler and symplectic structures on nilmanifolds", Topology 27 (1988), p. 513-518.
- [5] A. Blanchard, "Sur le variétés analitiques complexes", Ann. Sci. Ecole Norm. Sup. 73 (1956), p. 157-202.
- [6] J. L. BRYLINSKI, "A Differential Complex for Poisson Manifolds", J. Diff. Geom. 28 (1988), p. 93-114.
- [7] P. Deligne, P. Griffiths, J. Morgan & D. Sullivan, "Real Homotopy Theory of Kähler Manifolds", *Inventiones Math.* 29 (1975), p. 245-274.
- [8] K. HASEGAWA, "A note on compact solvmanifolds with Kähler structures", Osaka J. of Math. 43 (2006), no. 3, p. 131-135.
- [9] O. Mathieu, "Harmonic cohomology classes of symplectic manifolds", Comm. Math. Helvetici 70 (1995), p. 1-9.
- [10] S. A. MERKULOV, "Formality of Canonical Symplectic Complexes and Frobenius Manifolds", Int. Math. Res. Not. 4 (1998), p. 727-733.
- [11] I. NAKAMURA, "Complex parallelisable manifolds and their small deformations", J. of Diff. Geom. 10 (1975), p. 85-112.
- [12] A. Silva, "Spazi omogenei Kähleriani di gruppi di Lie complessi risolubili", Boll. U.M.I. 2 A (1983), p. 203-210.
- [13] D. Yan, "Hodge Structure on Symplectic Manifolds", Adv. in Math. 120 (1996), p. 143-154.

Manuscrit reçu le 28 juin 2005, accepté le 5 septembre 2005.

adriano.tomassini@unipr.it

Paolo DE BARTOLOMEIS
Università di Firenze
Dipartimento di Matematica Applicata G. Sansone
Via S. Marta 3
50139 Firenze (Italy)
paolo.debartolomeis@unifi.it
Adriano TOMASSINI
Università di Parma
Dipartimento di Matematica
Viale G.P. Usberti 53/A
43100 Parma (Italy)